Honors Trigonometry
Copy original problem.

Convince methat you understand the concept! Per
No Calculators!

Name

Date

Chapter 7 Exam
Given zz and z find: z + 2z, z . 2z,

and 4 (3 pts ea part; total 36 pts)
z,

Write your answers in cartesian coordinate form [ie. (a,b)] where a and b are rea numbers.

d z =2+3 b

z =-5++J-16 © z = (45 d z = 2cs120
z, = 3 - 4i z, = 4 - /-36 z, = (=32 z, = - 3cis30
[ Given zz and z find: z . 2z, and 4 (tot 24 pts)
z,
Write your final answer intheformof: pcis8, (0 < 6 < 360 ; p = 0)
d z =2-2 b z = (0 -2 ) z = 4 - 4 d z = 3cis30
z, =-1+i z, = (4 -4) z, = 42 cis135 z, = 6¢cis45
Il Express 033 _ 3,0%, he form of i 10 pt
press: BT 5 E intheformof a + bi (10 pts)
|V Convert: (5 ptsea)
6
a (x +3° + (y - 1)° = 10 topolar form by p =

> cosf — 35n 0 to cartesian form

V Sketch the following equations on the axes provided on the opposite side of this paper. (5 ptseq)
_ : b _ 0 = £ Tt d = i
d p=23sn6 b p=-2 c) 1 T
Extra Credit Spts

Given: sin x = 3 cos x and sin x cos X = k. Solvefor k.
(hint: k isapositive number lessthan 2.)






